Store and Recall
STOJ||RCL
Values

Example: Store and recall the value 8

Press Display
8 (ST0] 1 8
0 0
RCL 1 8

Example: Compute5+3, 7+3, 9+ 3

Press Display
3(ST0] 1 3
5[] [RCL 1 [=] 8
7(#] [RCL) 1 (=] 10
9(+]) [RCL 1 [=] 12

Note: You can [SuM] to 1, 2, or 3.
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Store and Recall
STOJ||RCL
Values

Example: Store and recall the value 8

Press Display
8|ST0 3
0 0
RCL 8

Example: Compute5+3, 7+3, 9+ 3

Press Display
3 (STO 3
5 [+] [Rey [=] 8
7 [+]) [RCL [=] 10
9 (4] [RCL (=] 12
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Use Parentheses

Example: 3 x (2 +4)

Press Display
3(x][J2[+]4D] =] 18

Example: (50 -2) + (6 + 4)

Press Display
d50=20]EFA6MHAD]IE 4.8
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Find a Reciprocal

Example: Express 1/4 as a decimal

Press Display
4 |1/x 0.25

Example: Express 1/(3 + 5) as a decimal

Press Display
3[#] 5[] [ix 0.125
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